


SECTION - a

wwista of 20 questions of 1 mark each.
SqUALIoNs x + 2y + 6 = 0 and ~fx = By~ 1 has
(B) " exactly two solutions

‘many solutions () no aslution

rence of the A P,

(B). -2
D) 2x

thrown together. The probability that they show different
B) 56
D) 23

of guessing the correct answer to a certain test questionis

¢ of not guessing the correct answer to this question is i

xis:




o= ot @Rl =2 x8 x B, c =25 x 7and LM (s, b, o) = 3780 then x

15 gqugl IIF“ b
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Mﬂﬁ“ polynomial 242 — 8% — 0 gre :

: -3
® -85

® 3,5
ground, which is 30 m away from the foot of a vertical

elevation of the top of the tower is faund to be 80°. The
e6) of the tower is :

(B) 33
@™ 30

fsin g =7, then tan 0+ §)is

| e

D) not defined

of common tangents that can be drawn to two circles

o distinct points is : :
®) 3
@ 1
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| In the g-qu M if PT iz & tipgent to & eivale With eentre O and
i mmm of sxis; 1

(By 115°
@Oy 125°

adrilateral divide each other proportionally, thes it
1

(B} rectangle
(D) trapesium

[Iﬁﬂ{ms}:ﬁmmtﬁeﬁme} If AD = 2 em, BD = 3 cm,
!an?gthofDE(inmn}m 1

mﬁ 2
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roduact is a fational number iy ;

By B3y

© A pair ofipmtional numbers whose

L

© ofEED D) 565

en at r_;'n'dnm from the digits 1, 2,8, 4.5,
,.hg: this digit is an odd prime number s

B, T8, 9 thap
{Hj

(0}

vations is 15, I_f‘r.he_ menn of first three chservations
lagt three oheervations is 17, then the third

B 19
@Y. 17

(B) 1lem
(D) 25em

figure, O is the centre of the circe: MN is the chord and the




pmatianm thntm' n\ql‘.ﬂhr 10 anil 50 weo Assertion nil N ks
aboations onerying ¥ ek gachh Two statoments wivan, one lnhalled ae
Ansrtion (A) pod Hhe ﬂhlr 4 Tnbollid ax Wenson (H), Select the ks
answer to: thase guentiona from the sodes (A), (B), () and (D) 4 iven

'-hﬂn{ﬁ' t
; w Mm--nwtﬂ#ﬂmﬂ () mre trva and Radmor () bs tho sarenct
: oxplanntion of the Ansortion (Al
& (Bl Both Assertion (A)and Reanson (R) are trus, but Rewson (1) is sot the
' ; carrect wxplanition ﬂ‘lhl Aswnrtion (A},
:MJ Amportion m)Ii trio, hﬂt Temuon (H) 1n fule

.{'D,'_L Asgertion Wh-m_hm Reawon, (K is true,

18, Mﬂl\ wv@.m point whmh divides the lins ﬂmumt Jehning the
! =1y 1}inu=nullrinmmiuj sm[

llallnn m mmdhm of the point which divides the line segment
.:._,_. A ﬂi'gl f:} and Bt#r ?ﬂ in the ratio m; : my wre

1

- In & ericket mateh, a batsman hits & boundary 8 times out

_' 20, Aimsﬂbn
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SECTION - C
m ; it d?’-'!ﬂﬂﬂﬂnn of 3 marks sach.
E - If the nfﬁnt.#-;"ﬁ“ of an AP, in 49 and that of first 17 termais
288, find the wﬁ#‘ﬁa‘-ﬁmt 20 terms. 3
OR

- ® @) The ratio of the 10% t2om to ita 30 term of an AP 15 11 3 and the

: R M—_,i}'m,..g ia 42 Find the first term and the common
difference of AP, *

quadratic polynomial +* — 16 and verify the
¢ zeroes and thie cosfficients of the polymomial. %

| £ 98 Solve the following system of Inear equations graphically 3
x—¥+I=0 =

f x+y=5 |

(a) - Find the ratio fn which the line segiient joining the points (5, 3) and
L 8 e di Wﬁw 3 :

’ OR :

P

I-E. o ? i 7 .;\:-'-'- mpttaty - i M, of 4
fifs ®) E{-—E,g;mﬂ_ ) are two points. Find the coordinates of the point

3 R on line segm -:Pﬂl_:ﬁu?ﬁthatmzfm : 3
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SECTION - D

gt This se ”---M“ﬂ-Wufﬁmurksamh.
i R : ‘BN sircraft was alowed down' due to- bud
i i ed is reduced by 100 km/h wnd by deing so,
- ; M'Hibll‘ Iie i ased by 30 minutes. Find the original
Hewy e b du
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§ 8
it fire, 4
b1
&
0 em 3,

158 - ' % solid eylinder of height 200 cm and base
- I st '-'-'r s
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! SECTION -
I i cansists of 3 ense study basod questions of 4 marks sach :
Th h.!n Mus He usually tie these horos with T m jon,
;m““'ml arof & Stare shnped grass finld of 20 m length, mg;mm:
pegs farm. But Tupe sometimes resiilts in injuries to his hirsen, o he
3 -thema i that &ach hm—wu AN grase,

G
the following quiestions :

B2

:quhgmpeafmhhnrsemmmmm?mh
gra.g:eﬂbyuﬁehurse (Usen=314) z
at is left ungrazed, if the length of the

tqfieft




a5-38 \ 4044 \ $5-48 \ 5054 |

13 \ 11 \ 10 i', 4 _Ii'll

From the above answer the following questions -
m&tllﬂmhmhﬂiitd'tha modal class of the above data 7 1
(a) Fﬁndﬂﬁzmﬂmﬁftheabowm 2
OR
) Hnﬂﬁenmhrdwﬁummﬂfmmmmmﬂn
mﬂmmmlhnmn@




